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BNL2021 Wide 285V
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BNL2021 Medium 285V

Signal MPV Amplitude [mV]

C 140~ H
220 N q n f
200 — Total 1201 — Strip 1
c — Strip 1 B ﬂ — Strip 2
E — Strip 3 100— — Strip 4
160 — Strip 4 L P
C — Strip 5 - S Str!p 5
140 — Strip 6 8ol — Strip 6
120 B
100 60—
80F -
- c I T — T a0l
60— S — Strip 1 N
- D 0.9F — Strip 2 -
40 © — Strip 3 -
E W o8 — Strip 4 20—

20:— o F — Strip 5 -
0_llll|llll|1ll1|Illllllllllll -g()?:— _IStr|p6 O_Illllllllllll\lIJI|IIII|IIII
-8 -7 -6 -5 -4 -3 -2 = P -8 =7 -6 -5 -4 -3 -2

X [mm] £ o6k ﬂ X [mm]
<C E
b 0.5:—
< r
D 0.4
n £
0.3
0.2F
0.1
: L1 | L | 1 | L1 | {1 | il | R - .| | | il 7 = |
-8 -7 -6 -5 -4 -3 -2

X [mm]



BNL2021 Narrow 285V
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Amplitude BNL2021 Channel 1
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